
Angličtina – přítomný průběhový čas

(present continuous)

plný tvar stažený tvar

I am I'm

you are you're

he he's

she she's

it it's

we we're

you you're

they they're

stažený tvar (1)

I am not I'm not

you are not you're not

he he's  not

she she's not

it it's not

we we're not

you you're not

they they're not

stažený tvar (2)

I'm not
1)

you aren't

he

she

it

we

you

they

1)
 stažený tvar tohoto typu zde není

working
isn't

aren't

Kladné věty

working working
is

are

Záporné věty

plný tvar

working working
is not

are not
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Angličtina – přítomný průběhový čas

(present continuous)

Otázky

Am I

Are you

he

she

it

we

you

they

I am. I'm not.

you are. you aren't.

he he

she she

it it

we we

you you

they they

isn't.

are. aren't.

working?
Is

Are

Krátké odpovědi

kladná záporná

Yes, No, 
is.
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